Division de Nombres Entiers (J)

Trouvez chaque quotient.

9+1= (—130) = (—13) = 225+ (—15) =
252+ (—18) = 288+ 18 = 90+ 18 =
(—112) =+ (=7) = (=78)+(—13) = 402 =
(=27)+(=3) = 54+9= 280 +20 =
(—380) = (—19) = 3+3= (—42) + (=3) =
152+ (—8) = 234+ 18 = (—56) + (—4) =
(—4)+(—4) = 9+11= (—100) = (=5) =
42 +7 = (—10) 2= (—66) -6 =
(—56) ~ (=7) = 285+ (—15) = (—20)+2 =
1+(-1)= 30+3= 105+ 15 =
(—80) -4 = 9612 = (—133)+7=
14418 = (—40) =8 = 176+ (—16) =
16 -8 = 404 = 49 +7 =
3+(-3)= (—45)+(-5) = T+1=
(—108) + (—6) = (—=90) + (—10) = (—56) + 14 =
112+ (-8) = 85+17= 70+5=
0+ (—19) = 140+~ (=7) = (—60) = (=3) =
240+ (—16) = (—=225)+15= 50+ (—10) =
(—153)+17 = 84 +6= 2+ (=2)=
4020 = 0+0= 136+ (—8) =
180+ (—15) = 0+10= (—90) =5 =
(—156) =13 = (—4)+1= 20+ (—1) =
0+ (—11)= 64 +8 = 30617 =
64+ (—8) = 108 18 = 32+ (—4) =
320+ 16 = 90+ (~10) = 36+ 18 =
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Division de Nombres Entiers Solutions (J)

144 -18 =28
16+-8=2
3+(-3)=-1
(—108) + (—6) =18
112+ (-8) =

0+ (—19) =

2407(—16)——

(—153)+17=-9
40+-20=2

32016 =20

Trouvez chaque quotient.

(—130) = (—13) = 10

28818 =16

(—78) = (—13) =6

54+-9=6
3+3=1
234 +-18=13
99 =-11=9
(—10)+2=-5
285+ (—15)=—19
30-3=10
9612 =28
(—40) 8= -5
40+-4=10
(—45)+(-5)=9
(—90) =+ (—10) =9
85+17=5
140+~ (=7) = —20
(—225)+15=-15
84-6=14
0+-0=-3
0+-10=0
(—4)+-1=-4
64+-8=28
108 -18 =6
90+ (—10) = -9

225+ (—15) = —15
9018 =5
40+2 =20

28020 = 14

(—42) + (=3) = 14

(—56) = (—4) = 14

(—100) = (=5) =20

(—66) =6 =—11
(—20) =2 =—10
1052 15="7

(—133)+=7=-19
176+ (—16) = —11
49 -7 =717
T=-1=7
(—56) =14 =—4
70+-5=14
(—60) = (—=3) =20

136+ (—8) = —17
(—90) ~5= —18
20+ (—1)=—20
306-17=18
32+-(—4)=-8
36-18=2
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